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- M axP+y?P=16 b5 (1,2V3) b2 TR RN
The slope of the tangent to the ellipse 4x?*+y*=16 at the point (1,2v/3) is

(A)'j_g (B) ﬁ (€) —f (D) E (E) PL_L#4E(none of the above)

gvl+lnx
J;——d

(A)g (B) g (©) g(zﬁ —1) (D) %(».,E-l) (E) PA_EE4E(none of the above)

. f; cos?xdx =

(A)E (B) g (C)1- E (D)2 - g (E) AL '#49E(none of the above)

. Jrsi.l!'.l:'; d}{ —

(A) 2cosyx+ C (B) —2cosyx+C (C) cosyx+C (D) %CDS\."E+ C

(E) LA #3E(none of the above)

ek y=x* 5 y* =x Jr XA

The area enclosed between the curves ¥ = x? and y2 =x is

A ®)

| B

(©) g (D) 3 E) LAk ¥9E(none of the above)

o KREDERD 30 A FUREL S S, mIALBEN EREZE, 40 PPJE e aeiE ik, A HUE R
Hohv(t) = 30— 0.75t, WHAREREFEEEE2FIL, ZE2dJIAR?

A train travelling at 30 meters per second passes a signal and the driver immediately applies
the brakes. 40 seconds later the train grinds to halt. The velocity is given by

v(t) = 30 — 0.75t. The distance the train travels in coming to rest in meters is

(A)1200 (B)800  (C)600  (D)200  (E) LA I-E3E(none of the above)
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PASE 8t 8 3L A WK BIN AR 6 27> Z IEBIAEAK, WAL N K80 T & LA 70
Water is flowing into a vertical cylindrical tank of radius 6 cm at the rate of 8 em?® /minute.
How fast is the level of water in the tank rising in cm,/minute?

(A)% (B) ; (@ % (D) % (E) LA_L#dE(none of the above)

— H 3 B S A P A AR DN 0.05%% 4 2x 4+ 30070, A RIS p e,
VU ] AT SE 100 — 2pWE. (] 52 2 /DI T A5 B KR ?

A manufacturer can produce a weekly output of = tones of his product at a total weekly cost
of 0.05x?+ 2x+ 300 dollars. If he sells at a price of p dollars per tone, the weekly sale
will be 100 — Zp tones. How many dollars is the price at which his profit will be a
maximum?

(D)30  (E) LA E9E(none of the above)

A= (B)28  (C) -

20
11

» Ntan y=

#i tan(x+y) =%, tan}c:%

,then tany=

If tan(x+y) = %, and tanx ==

(A)$ (B)1 (©) i (D) E (E) LA EsHE(none of the above)

#sin {x— E} = 3CDS(K+E:]’ Mjtan x=
If sin (x— E) = 3CDS[K+E:], then tanx=

(A)% (B) 1 (C) ; (D)0 (E) AL ¥3E(none of the above)

(x2 —HOEA L FHN

The coefficient of x~* in the expansion of (x* — ij 10 s

(A) 32 (B) 42 (C) 52 (D) 45 (E) LA_L#HE(none of the above)
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12. X0y

(A)$ (B) E (@ é (D) ; (E) LA_L#dE(none of the above)
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13. lim, _,, =

(A) oo (B) 1 ©o (D) —wo (E) PL_L B 3E(none of the above)

14, Pef(x) = =25, me’{;l):

1tcoex

Let f(x) = -2 Then f' (Ejz

14coex

(A)% (B) 1 (C)§ (D)g (E) LA_E¥3E(none of the above)

15. %log, 125 =2, M| x=
Let log,125=2.Then x=

(A)5 (B)55 (C) 5v5 (D) 3v/5  (E) PLLEE(none of the above)

16. iﬁlngﬂ¥ =2, Wa=

Let log, 2= 2.Then a=

(A2 (B)

Ba | =

(C)§ (D) 3 (E) LA I ¥4E(none of the above)
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17. %y, %q, o, x, AEENSLE, 5= %, MEL (x,— %) =

: - I - .
Let x,,%,,..,x, ben arbitrary real numbers and % = % Then T, (x,— %)%= _

(A)Z:lelz - I'DTCE (B) z?:j_x'l: _,;:2 (C) E[’zlxlz - 112‘;:2

(D) ¥~, x,° —i—z (E) LAk #HE(none of the above)

18. R ¥if(x,y) = 2x+ 3y + 70 <x <4, 0<y< 3WENZHRKEN
The maximum value of f(x,y) = 2x+ 3y +7 ontheregion0 <= x =4, 0 <y =3 is

(A)7 (B)14 (C)12 (D)24  (E) Lh_LE9E(none of the above)

19, BRI — 257 + 55— 3 = 02 MR Ne By, W2 4242

Let o, B,y be the roots of the equation x* — 2x% + 5x— 3 = 0. Then i + §+$ is

(A)g (B)—g (C) —13 (D) 13 (E) LA_E#3E(none of the above)

20. Hw = — 2+ 24, Jw® +wit =

Let w= —%—i-“;—?i.Then w? +wif =

(A)—1 (B) 2 (C) 1 (D) —2 (E) LA #3E(none of the above)

21, B A — A 15 B2 HikHH 2z 5, WHEEEIERN 0.1, Wi EZ X8
900% % M HLZEH
A student sits a multi-choice exam with 15 questions, each of which he has 0.1 chance of
getting wrong. The probability he will exceed 902 in this test is

(A) (0.1)(0.9)* (B) (T)0.1)(0.9)* (C) (0.9)*

(D) (0.9)* + (¥)(0.1)(0.9)*  (E) BA_EEHE(none of the above)
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—HETE 4 BER 1 ABK, BENLIME BRSO . FEEEA LA R, U T 2 2R ER
ZHLEN

A jar contains 4 black balls and one white ball. One ball is randomly withdrawn with its color
being noted. Without replacing this ball, another is withdrawn and the color is noted. The
probability of drawing a black ball on the second draw is

A B ©5 @1 (E) LlEEE(none of the above)

20

—YL 15 DB, BE AR, BRI R i A . AR EER
HBEFRMP AT, W22 B B IR LA 2 Db 2

There arel5 students in a class. They all take English, Mathematics and Science. At the end
of the semester, one prize is awarded to the best student of each subject. How many ways
could the prizes be awarded if no student can win more than two prizes?

(A)14° (B) 14 x 157 (C) 15 — 15 (D) 15x 14 x 13
(E) LAk #3E(none of the above)

NG P e, B AL AN NEHLR 53 75 NP{N = 0}=0.1, P{N =1} =0.25,
P{N =2}=0.4, P{N =3}=0.2, P{N = 4}=0.05. WINKIZZE N ?

A person infected with a certain disease can pass it on to others. Let N be the number of
others infected by this person. The probabilities of N are respectively P{N = 0}=0.1,

P{N =1} = 0.25, P{N = 2}=0.4, P{N =3}=0.2, P{N = 4}=0.05. What is the variance
of N?

(A)1.0275 (B) 1.8514 (C) 2.3020 (D) 1.5165
(E) LAk #3E(none of the above)

SR 7 T TPk = Ky 2B, Sty R« RS2 AIEH, K

j‘jﬁ%&o %ﬁ t=0 Hj‘y ¥ = 507 Eéﬂiuﬁlﬂﬂﬂ/l\iﬁ EEE{/(O
K A5 ?
The rate of increase per day in the number of bacteria in a pudding is according to the model

j—f = Ky , where y is the number of bacteriaat day t , K isaconstant. If y = 50 when

t=0, and they are increasing at the rate of 1000 per day, what is the value of K ?

(A)50 (B)30 (C)20 (D)10  (E) LA L E3E(none of the above)



